No. of Printed Pages : 6 BECE-002

BACHELOR’S DEGREE
PROGRAMME (BDP)
Term-End Examination
June, 2025

BECE-002 : INDIAN ECONOMIC
DEVELOPMENT : ISSUES AND
PERSPECTIVES

Time : 3 Hours Maximum Marks : 100

Note : Answer questions from each Section as

per instructions given.

Section—A

Note : Answer any two questions in about
500 words each. 2x20=40

1. Distinguish between balance of trade and
balance of payment. Give an account of
balance of payment situation in India since
1991.
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2. What is human capital formation ? How
does human capital facilitate the growth of
the economy ?

3. What do you mean by the term ‘reforms in
agriculture’ ? Explain the major challenges
being faced by agriculture sector.

4. What 1s unemployment ? Explain the
various dimensions of unemployment in
India.

Section—B

Note : Answer any four questions in about

300 words each. 4x12=48

5. Explain the patterns of structural changes
in the GDP over the period 1951-2005.

6. Bring out the trends in savings and
investment in India over the period 2001—
2008.

7. State the key elements of economic reforms
introduced since 1991.

8. Explain the various problems associated

with fiscal federalism.
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9. Outline the major weaknesses of the New
Industrial Policy of 1991.

10. Discuss the nature and characteristics of
services sector.

11. State the gains from full convertibility in

Capital Account.

Section—C

12. Write short notes on any two of the
following : 2X3=6
(a) Fiscal Deficit
(b) Minimum Support Price (MSP)

(¢) Social Infrastructure

13. Distinguish between any two of the

following : 2%X3=6
(a) Self-employment and Wage
employment

(b) Infant mortality and Child mortality

(¢) Flood prevention and Flood protection
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Tk SUTET Shidiehd (S, ST, t)
i aire
I, 2025

2 E.-002 : W anféres foremm
Teg 3 ukued

gug ;3 §U2 SIfeFaH 37F : 100

qig : 73 T FAGYTTER g @ G g¥l & S GIHT

WE—37

FiT . fH=gl S g9l & I YT 500 Vsl (F9F) H
g 2x20=40

1. SR Gqe T& YA Gqo H $T=R oz | 1991
% 91 YR § YT Hqad i ferfd &1 eren-siren
HISEY

2. 9d USt feior s § 2 wee OSt fRE gER
3o wafs i glasmsHs s § 2
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3. ‘Hfu H guRl | SR 1 ARE T ? H & g7
AT St S dTelt T FAIfaal St SRt i |
4. USRI 1§ 7 9RA | SRS & fafa= s

1 SRS HiIf |

TWE—

qiT: [l AR g9 & IW AT 300 V= (FAF) G
it 1 4x12=48

5. 1951-2005 %! 3Fafd & IRA Tkl el SR H
3 OIS GREddl @ YiaEEl S S
RIS |

6. 2001-2008 % TN d=d d fafdn =t ygfaai =t
== HifST

7. 1991 & 9 Y& 3 T 7 guRi & g qw
1 &A1Y |

8. fodia weae 4 Sei fafay wwensti &t =ren
TSI |

9. 72 siENfites +Hifd, 1991 +1 yg@ TA@@Rd &I

A |
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o & i Ghia Ua fagToarssi sl == shiferd |
ST @ (Capital Account) @t qui gfard=rer
T g AT ! SRy |

ws—d
frafafeg & @ o<l @t ® wfera fewft fafax
2x3=6
(&) o= =

(@) =FaH g9 97 (MSP)
(1) |HISR SR HC=1

frafafad § 9 fe<i 8 & o9 3R Jdsd : 2x3=6
() TSR TF ASiGd ST AR

(@) Terg] 4o <X e et Jeg <X

(1) g e T g Ta

X X X X X
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